
01.26 Генератор переременного тока, стартер 
 

 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 4431130120 Генератор 9515 946 
002 3111105360 Шайба 8,4 CSN 02 1702.1 MKS 720 
003 3111100610 Гайка M8 ISO 4032 - 5 MKS 720 
004 2011350324 Скоба генератора  
005 3111106680 Шайба 9 CSN 02 1727.1 MKS 720 
006 3111108840 Шайба пружинная 8 CSN 02 1741.05 MKS 720 
007 3091147180 Болт M8 x 25 ISO 4017 - 8.8 MKS 720 
008 3091148540 Болт M8 x 75 ISO 4014 - 10.9 MKS 720 
009 2010420184 Серьга  
011 2011350344 Рычаг натяжки  
012 3091172260 Болт M10 x 130 ISO 4014 - 8.8 MKS 720 
013 3111105370 Шайба 10,5 CSN 02 1702.1 MKS 720 
014 3111108850 Шайба пружинная 10 CSN 02 1741.0 MKS 720 
015 3111100640 Гайка M10 ISO 4032 - 5 MKS 720 
016 2050952804 Шайба установочная  
017 3091147300 Болт M10 x 22 ISO 4017 - 8.8 MKS 720 
018 3091144700 Болт M8 x 30 ISO 4014 - 8.8 MKS 720 
019 2722120400 Ремен AVX 13 x 750 
020 2078690554 Крышка генератора  
021 3457110120 Трубка KOPEX 3348 D 48 
023 5482410650 Скоба шланга TORRO 20-32/9-C6 W1 
024 3111105390 Шайба 15 CSN 02 1702.1 MKS 720 
025 2054161284 Лента 55 mm 
027 4431150230 Стартер водонепроницаемый 24V/8KW 
029 2051012094 Шайба установочная  
030 2075720014 Хомут для стартера  
031 3111108850 Шайба пружинная 10 CSN 02 1741.0 MKS 720 
032 3091172210 Болт M10 x 80 ISO 4014 - 8.8 MKS 720 
033 2072966164 Кронштейн левый  
034 3111108870 Шайба пружинная 14 CSN 02 1741.05 MKS 720 
035 3091147570 Болт M14 x 30 ISO 4017 - 8.8 MKS 720 
036 4439350010 Вентилятор  
037 9901009200 Шкив 6956.421 
038 3111108340 Шайба пружинная 16 CSN 02 1740.0 MKS 720 
039 3111102140 Гайка M16 x 1,5 ISO 8675 - 04 MKS 720 
040 2072966174 Кронштейн правый  

 
 


	01.26 Генератор переременного тока, стартер

